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¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½    

General Instructions  

1 ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA   

 Candidates are required to give their answers in their own words as far as 

practicable.  

2 bl iz’ui= esa pkj bdkbZ gSa ,oa lHkh bdkbZ ds lHkh iz’uksa dk mÙkj nsuk 
vfuok;Z gSA  
The question paper consists of Four units and all questions in all units are 

compulsory.   

 i) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    I       Unit – I ¼bfrgkl History½       & 20 vad  
 ii) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    II      Unit – II ¼Hkwxksy Geograpy½     & 20 vad 

iii) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    III   Unit – III ¼ukxfjd 'kkL= Civics½ & 20 vad 
iv) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    IV   Unit – IV ¼vFkZ’kkL= Economics½   & 20 vad 

3 izR;sd iz’u ds vad mlds lkeus vafdr gSaA  

 The figures in the margin indicate full marks of the question.   

4 iz'uksa ds mÙkj iz’uksa ds lkFk fn;s x, funsZ’k ds vkyksd esa gh nsaA   

 Answer of the question must be in the context of the instructions given therein.  

5 tgk¡ dgha Hkh vko’;d gksa] mUgsa LoPN vkjs[k [khafp,A  

 Draw neat and clean diagrams wherever necessary.  

6 iz'u&lg&mÙkj iqfLrdk esa gh js[kk ekufp= fn, gq, gSaA   

 The outline maps are given in the question-cum-Answer Booklet itself.   

bdkbZ&bdkbZ&bdkbZ&bdkbZ& I    ¼¼¼¼bfrgklbfrgklbfrgklbfrgkl½½½½                             

Unit – I (History) 

      
1- fo;ruke dE;qfu"B ikVhZ dh LFkkiuk dc vkSj fdlus dh\ 

When and who formed the Vietnamese Communist Party ?         
1 

 vFkokvFkokvFkokvFkok  

 mnkjokn ls D;k le>rs gSa \ What do you Understand by Liberalism ?          

2- dE¶;wf’k;l dkSu Fkk \ Who was Confucius ?     
 

1 

3- fo;ruke ds ckjs esa Qku ;w f=Ug dk mís’; D;k Fkk\ Qku ckbZ pkÅ 
vkSj muds fopkjksa esa D;k fHkUurk Fkh\ 
What was Phan chu Trinh’s objective for Vietnam? How were ideas different from 

those of. Phan Bio Chau ?     

3 

 vFkokvFkokvFkokvFkok  

 egkeanh ds dkj.kksa dh O;k[;k dhft,A  
Explain the causes of the great depression.   

 

dqy iz’uksa dh la[;k&27 
Total No. of Question =27 

iw.kkZad %  
Full Marks : 80 



   

4- mUuhloha lnh ds ;wjksi esa dqN m|ksxifr e’khuksa ds otk; gkFk ls dke 
djus okys Jfedksa dks izkFkfedrk D;ksa nsrs Fks\ 
Why did some industrialists in nineteenth Centaury Europe prefer hand Labour over 

machines ?      

3 

 vFkokvFkokvFkokvFkok  

 yksxksa dks euksjatu dh volj miyC/k djkus ds fy, baxySaM esa 
mUuhloha lnh esa euksjatu ds dkSu&dkSu ls lk/ku lkeus vk;sA  
What forms of entertainment came up in nineteenth Centuary England to provide 

leisure activities for the people.  
          

 

5- ued ;kk=k dh ppkZ djrs gq, Li"V djsa fd ;g mifuos’kokn ds 
f[kykQ izfrjks/k dk ,d vljnkj izrhd FkkA  
Discuss the salt march to make clear why it was an effective symbol of resistance 

against colonialism.  
  

 

6- ekfVZu ywFkj dSls eqnz.k ds i{k esa Fkk vkSj mlus bldh [kqysvke iz’kalk 
dhA  
How Martin Luther was in favour of print and spoke out in praise of it.   

 

 vFkokvFkokvFkokvFkok  

 O;k[;k djsa fd 1740 ds ckn xjhc yksx Hkh miU;kl i<+us yxsA  
After 1740 the readership of novels began to include poorer people. Explain. 
          

 

7- fn;s x;s fo’o ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks n’kkZb,% 

¼iznÙk ekufp= dk iz;ksx djsa½A 

    ¼d½ vÝhdk 

    ¼[k½ teZuh 

In the given outline map of world mark the following places : (Use the given map). 

(a) Africa 
(b) Germany  

 

 



 

 bdkbZ&bdkbZ&bdkbZ&bdkbZ& II    ¼Hkwxksy½¼Hkwxksy½¼Hkwxksy½¼Hkwxksy½ 
Unit – II (Geography) 

lgh fodYi pqulgh fodYi pqulgh fodYi pqulgh fodYi pqus s s s choose the correct option 

 

8- buesa ls dkSu lh ,d Qyhnkj Qly gS \ 

Which one of the following is a leguminous crop ?   

1 

 (a) nkysa Pulses            (b) eksVs vukt Millets   

(c) Tokj Jowal       (d) fry Semamum   

 

9- Tokjh; ÅtkZ fuEufyf[kr esa ls fdl izdkj dk lalk/ku gS \ 

Under which of the following type of resource can tidal energy be put.    

1 

 (a) iqu% iwfrZ ;ksX; Replenishable     (b) vtSo Abiotic      

(c) ekuod`r Human-mde          (d) vpØh; Non-recyclable 

 

10- ijaijkxr rFkk xSj ijaijkxr ÅtkZ ds lk/kuksa esa vUrj Li"V djsaA  

Distinguish between conventional and non-conventional sources of energy.   

3 

 vFkokvFkokvFkokvFkok     

 lhekUr lM+dksa dk egRo crk,¡A What is the significance of the border roads?    

11- cgqmís'kh; ifj;kstukvksa ls gksusokys dksbZ ik¡p gkfu;ksa dk mYys[k djsaA  
Name any five demerits of multi-purpose river project.  

5 

 vFkokvFkokvFkokvFkok     

 izkS|ksfxd vkSj vkfFkZd fodkl ds dkj.k lalk/kuksa dk vf/kd mi;ksx 

dSls gqvkA  

How have technical and economic development led to more consumption of 

resources.  

 

12- jktLFkku ds m/nZ’kq"d {ks=ksa esa o"kkZ ty laxzg.k fdl izdkj fd;k tkrk 
gS\ O;k[;k dhft,A  
Discuss how rain water harvesting in semi-arid regions of Rajasthan is carried out.  

5 

 vFkokvFkokvFkokvFkok     

 ifjogu rFkk lapkj ds lk/ku fdlh ns’k dh thoujs[kk rFkk vFkZO;oLFkk 

D;ksa dgs tkrs gSa\ 

Why are the means of transportation and communication called the lifeline of a 

nation and its economy.   

 

13- 

¼d½ 

fn;s x;s Hkkjr ds js[kk ekufp= ij fuEufyf[kr dks n’kkZb,A  

(i) ,d pk; mRiknd {ks= 

1+1 

= 2 



(ii) rkIrh unh 

 Show the following in the given outline map of India.  

(i) One Tea producing area. 

(ii) Tapti river  

 

 

 

¼[k½ fn;s x;s Hkkjr ds js[kk ekufp= dk /;kuiwoZd v/;;u dhft, vkSj 
¼d½] ¼[k½ rFkk ¼x½ }kjk iznf’kZr txgksa dks igpku dj ukekafdr 
dhft,A  

1+1 

+1= 

3 

 Study the given outline map of India carefully and name and identify the places 

which are indicated by (a), (b) and (c). 

 

 

 



     
bdkbZ&bdkbZ&bdkbZ&bdkbZ& III    ¼ukxfjd’kkL=¼ukxfjd’kkL=¼ukxfjd’kkL=¼ukxfjd’kkL=½½½½ 

Unit – III (Civics) 

 

14- dks"Bd esa ls lgh 'kCn dks pqudj fjDr LFkku dks Hkfj, % 
  Hkkjr dk lafo/kku fdlh ------------------- dks fo’ks"k ntkZ ugha nsrkA   
              ¼O;fDr]  /keZ½ 

1 

 Fill in the blank with correct word given in brackets :  

  Constitution of India does not give a special status to any …………….   . 

                           (person,    religion) 
 

 

15- dks"Bd esa ls lgh 'kCn dks pqudj fjDr LFkku dks Hkfj, %  
   lkaiznkf;drk gekjs ns’k ds ----------------------- ds fy, ,d cM+h pqukSfr 
Fkh vkSj vHkh Hkh jgh gSA  
          ¼yksdra=] laln½ 

1 

 Fill in the blank with correct word given in bracket:  

Communalism was and continues to be one of the major challenges to ……………. 

in our country.  

                        (democracy,   parliament)  
 

 

16- ^^gj lkekftd fofHkUurk lkekftd foHkktu dk :i ugha ysrh”A ,d 
mnkgj.k nhft,A   

3 

 “Every social differences does not lead to social division.” Give one example.    

17- Jhyadk esa lRrk dh lk>snkjh ds O;oLFkk ds ckjs esa ppkZ dhft,A  
Discuss the power sharing arrangements in Sri Lanka.   

5 

 vFkokvFkokvFkokvFkok     

 Hkkjr dh la?kh; 'kklu&O;oLFkk dh fo’ks"krkvksa dh ppkZ dhft,A  
Discuss the salient features of Federal form of Government in Indian. 
 

 

18- ncko&lewg vkSj vkanksyu jktuhfr dks fdl rjg izHkkfor djrs gSa\ 
In what ways do pressure groups and movements exert influence on politics ?   

5 

 vFkokvFkokvFkokvFkok     

 jktuhfrd ny dk D;k vFkZ gS \ jktuhfrd nyksa dks dSls lq/kkjk tk 
ldrk gS\ blds dksbZ nks rjhds crkb,A  
What is the meaning of political party ? How can political parties be reformed? 

Write any two ways.  
 

 

19- yksdra= fdl rjg mÙkjnk;h] ftEesokj vkSj oS/k ljdkj dk xBu djrk 
gS \ 
How does democracy produce an accountable, responsible and legitimate 

government ?   

5 

 vFkokvFkokvFkokvFkok     

 yksdra= dks etcwr djus esa ,d vkneh fdl izdkj dh egRoiw.kZ 
Hkwfedk fuHkk ldrk gS\ Li"V djsaA  
How can a common man play an important role to make the democracy strong ? 

Explain.  

 

 
 

 



     
bdkbZ&bdkbZ&bdkbZ&bdkbZ& IV    ¼vFkZ’kkL=¼vFkZ’kkL=¼vFkZ’kkL=¼vFkZ’kkL=½½½½ 
Unit – IV (Economics) 

 

20- jk"Vªh; vk; dh ifjHkk"kk fy[ksaA Define National Income?  
 

1 

21- miHkksx dk D;k vFkZ gS \ What do you mean by consumption. ? 
  

1 

22- Lkk[k D;k gS\ What is Credit ?  
  

1 

23- eqnzk dks fofue; dk ek/;e D;ksa dgk tkrk gS\ 
Why is money called the medium of exchange ?  
  

1 

24- [kqyh csjkstxkjh vkSj izPNUu csjkstxkjh ds chp foHksn dhft,A  
Distinguish between open unemployment and disguised unemployment.  
 

3 

25- dqN ,sls dkjdksa dks ppkZ djsa] ftuls miHkksDrkvksa dk 'kks"k.k gksrk gSa\ 
Mention a few factors which cause exploilation of consumers.   
  

3 

26- eqnzk vko’;drkvksa ds nksgjs la;ksx dh leL;k dks fdl rjg lqy>krh 
gS\ viuh vksj ls mnkgj.k nsdj le>k,A  
How does solve the problem of double comcidance of wants ? Explain with an 

example of your own.  
 

5 

27- Hkkjr ljdkj }kjk fons’kh O;kikj ,oa fons’kh fuos’k ij vojks/kd yxkus 
ds D;k dkj.k Fks\ bu vojks/kdks dks ljdkj D;ksa gVkuk pkgrh FkhA  
What was the reasons for putting barriers to foreign trade and foreign investment by 

the Indian government  ? Why did it wish to remove these barriers ?    

5 

 vFkokvFkokvFkokvFkok     

 cgqjk"Vªh; daifu;k¡ vU; daifu;ksa ls fdl izdkj vyx gSa\ 
In what ways a MNC different from other Companies ?   

 

 


